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2.  AABCOIA HI17F WAL o, x 9] 2717

A

@ 20° @ 25° ® 30° @40° ® 50°

/x =180° - (40° +30°) x 2 =40°




3. & O"oA AB=AC = AD, /FAD = /BAD & o}, /x 9] Zkut
O

g2 A2?

® /AED @) /ACD ® /ABC
@ /DAF ® /BAC

~&B ~

AABC £ o|5HAZo|ng
/BAC = 112°

/BAD = /DAF =

LACD = %(180° —112° - 34°) = 17°

whebA] sx = 34° - 17° = 17° o[t}
<. Lx = /ACD = /ADC




€ AABC 94 /B = /ACD, AC
18cm, AD = 10cm ¢ @, BD 9] Z4o]
“Fato 2},

=i cm

>
[> HE 224 cm

. \
/B =/ACDO|1 /A= FEo|Bg
AACD 2 AABC (AA H2)
510:18 =18: AB
AB = 324cm
~ BD =AB-10 =324 - 10 = 22.4(cm)
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6. & 1" Zo] AD//BC 1 AHE]E ABCD o4 OA: OC =1:2
o]t} AAOD = 48cm? ¢ W], DABCD 9] Hol=?

A D
9)
B C
@4320m2 @ 480cm? ® 562cm?
@ 600cm? ® 642cm?

B \
AAOD : ACOD =1:2 90|22

48 : ACOD =1:2 .. ACOD = 96 cm?

ojmf AABD = AACD ©°|E 2

AABO = ACOD = 96 cm?

T, AABO:ACOB=1:20]|2=2

96: ACOB=1:2 .. ACOB = 192 cm?

- OABCD = 48 + 96 + 96 + 192 = 432( cm?)




7. ohe aelA 17 aABCO WAL W e = () ok,
(el FEe 52 Fokofel.

A
T
o/ 25°
B C
> =
> HE 20

A 171 aABC O] YiAlol B2
/x+45°4+25°=90°
 /x=20°




8. TS 1} e FPAHF ABCD oA A M- BC 9] F4 o]t}
BD = 12cm ¢ @, BO 2] ZolE Fa1H?

@ 3cm @)4cm ® 5cm @ 6cm ® 7cm

AD //BCo]EZ /OAD = /OMB (312}, /ODA = /OBM (31
Z})

wt2bA AOAD ©2 AOMB ©|t},

AD:BM=2:19°22 DO:BO =2:1°]t}.

BD = 3BO =12

.. BO =4(cm)
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10. o3 29 9] AtttE]&E ABCD = AD//BC, AO: OC =1:30°|1
AABD = 20cm? & ©f, ADBC 9] Ylo]=?

A D
(0)
B C
® 30cm? @ 45cm? @ 60cm?
@ 75cm? ® 90cm?

AABO : AAOD =3:1, AAOB = 15cm? |
1:3 = 15cm? : AOBC , AOBC = 45cm? |
. AABC = ADBC = AAOB + AOBC = 15 + 45 = 60(cm?)




11. & a4 AABC = AB = AC ¢l o]5HAMZ o] AB 9
AR PQE IS W, zx+ 2y o 2712

ofll

oH,
ot
ro,

A
P

B3O

O
Q

® 90° @ 100° @ 110° @120° ® 130°




12.

& 23 Zo] aAABC oA B =
/ACD, AC = 12cm, AD = 9cm & i,
BD ¢] Zol&?

@ 4cm @ 5cm ® 6cm
@7cm ® 8cm

B

/B =/ACD, /A FFo|B&
AACD 0 AABC (AA B)
.9:12=12:AB

AB = 16 cm

. BD=AB-9=16-9=7(cm)




@ 30° @ 32° @ 34° @36° ® 38°

B

AABD 7} o] 5HAZIEo|BH R /A = /ABD = x° 0|1
/BDC = /x+ /x = 2/x

ESt ABCD & o|5H4AZHS o2 2 /BDC = /BCD = 2/x
AABC 7} AB = AC ¢l o]z ol nz

/ABC = /ACB = /BCD = 2/x

o2hA AABC 9] WZHe] 9t o]-§-5td

/x4 2/x + 2/x = 180°

oo Lx = 36°




14. Thg 133} o] AD//BC ¢l AFtka]E ABCDOA] AAOB = 80cm?
,2DO = OB ¢ uf, aADBC 9] Wel&?

0)
B C
® 180cm? @ 200cm? ® 220cm?
@®)240cm? ® 260cm?

AAOB = ACOD = 80cm?

T, 2DO=0B o2&

- ABOC = 160cm?

w2} ADBC = ACOD + ABOC = 80 + 160 = 240(cm?)




15.

th2 1EellA A 1 aABC ©] YiAolth. AELBC € W, /DAE 9

2717

25° n

® 15° @ 17° ® 18° @20° ® 22°

~&B

/A = 180° — (25° + 65°) = 90°
(DAC = % X 90° = 45°

(EAC = 25° o|B&2
- .DAE = 45° — 25° = 20°




